RTB series Rotary Table

Product features

CHELIC.

Q Internal structure

AH

i Ml R
e
O ) O
S i
T

Q© Specification

Item Model | RTB3 | RTB7 | RTB10 | RTB20 | RTB30 | RTB50 | RTB70 | RTB100| RTB200| RTB300| RTB500

Action Double acting

Fluid Air

Torque Nem| 0.3 0.6 15 2.2 3.2 5.5 7.5 9.8 19 31 45
Bore size mm| @10 @12 @15 218 | @20 @25 | @28 @32 @40 @50 | @63
Rotation angle ° 180

Adjustable angle ° 0~ 190

Port size M3x0.5P M5x0.8P PT 1/8

Pressure range Kgf/cm? (kPa) 1.5~7 (150~700)

Ambient and fluid temperature «c 0~50

ﬁmible Adjustment bolt | 0.002 | 0.006 | 0.007 | 0.025 | 0.048 | 0.081 | 0.24 | 032 | 0.56 1 15
energy 4| Shock absorber — — | 0039 | 0.116 | 0.116 | 0.294 | 1.1 1.6 2.9 3.5 5.2
Q Code of order

( RTB ) ( 10 ) — C _ sp 2 H)—(Ca 2 )

l Model ‘ l Torque force ‘

l Sensor switch ‘ l

Shock absorber ‘

10
20
30
50
70
100 :
200 :
300 :
500 :

RTB series
Rotary cylinder

AW ONAWN =00
O©_OCoxmnhdNGOwW
Z2ZZZ2Z2Z2Z2ZZ2ZZ2Z2
33333333333

© How to select shock absorbers

BB

: Sensor switch mark (CS-9D)
Sensor switch mark (CS-9B)
Sensor switch mark (CS-9H)
(

Sensor switch mark (CS-9DPNP)
#For AC&DC - 5~240V Voltage
["2 ]: Number of sensor switch

1 =1 pcs Sensor switch

2 = 2 pcs Sensor switch

Sensor switch mark (CS-9DNPN)

A: Shock absorber

1=1pcs
2 =2pcs
(option)
A

(option)
Model Shock absorbers |Max. absorb ability
RTB-10 SAT-0806N 3 Nm
RTB-20 SAT-1007N 6 Nm
RTB-30 SAT-1007N 6 Nm
RTB-50 SAT-1412N 20 N'm
RTB-70 SAT-2015N 59 N-m
RTB-100 SAT-2015N 59 N'm
RTB-200 SAT-2725N 147 N-m
RTB-300 SAT-2725N 147 N'm
RTB-500 SAT-2725N 147 N'm

6-12.35

RTM

RMF

RTB

RTBM

RTZB

RTP

RTH

RTU



RTB series Rotary Table

Product features CHELIC.

© Internal structure

% o
-
- 5 o

O Components and material list

No. Item Material No. Item Material
01 Body Aluminum alloy 10 Gear Stainless steel
02 Rear cover Aluminum alloy 11 Bearing Bearing steel

03 Front cover O-ring NBR 12 Bearing Bearing steel

04 Vent O-ring NBR 13 Piston packing NBR

05 Front cover Aluminum alloy 14 Wear ring POM

06 Rear cover O-ring NBR 15 Ball bearing Alloy steel

07 Bearing cap Aluminum alloy 16 Screw packing Rubber

08 Dial scale Aluminum alloy 17 Adjustment bolt Alloy steel

09 Gear shaft Alloy steel 18 Magnet Rare earth metal

© Packing and O-ring material list

Item Front cover O-ring | Rear cover O-ring Vent O-ring Piston packing
Model Quantity 2 2 4 4
RTB-3 @B8XB1 (1 PCS) @B8XB1 (1 PCS) — DYP-10
RTB-7 J10X31 (1 PCS) J10X31 (1 PCS) — DYP-12
RTB-10 D15XD1.45 D15XD1.45 @2.9XD1 DYP-15
RTB-20 @20X31.2 D20XD1.2 DAXD1 DYP-18
RTB-30 ©@20.8X02 @20.8X02 D4XD1 DYP-20
RTB-50 @25.12X31.78 @25.12X31.78 DBAXD1 DYP-25
RTB-70 B28XD2 D28XD2 D6XD1 78-2822
RTB-100 @33XD1.5 D33XD1.5 DEXD1 78-3224
RTB-200 D41XD1.78 D41XD1.78 D12XD01 78-4032
RTB-300 350.52X31.78 @50.52XD1.78 D12XD1 28-5042
RTB-500 D63XD2 D63XD2 J12XD1 Z8-6353

6-12.36



RTB series Rotary Table

Instructions CHELIC.

© Rotary direction and rotation angle

Position hole

A
<] Air hole

0 ot

1 Air hole
B

RTM

Cw, Rotary

RMF

RTB

RTBM

© Set of Rotation range

RTZB

x44

RTP

B

RTH

RTU

© 180° Swing rotation

© 90° Swing rotation © 90° Swing rotation © 90° Swing rotation

6-12.37



RTB series Rotary Table

Instructions

CHELIC.

© Transverse load and Deflection

v RTB 03 v RTB 07 v RTB 10 Pallet ‘L‘
Eor Eor € Loading
£ 040
~0.10 — ~0.10 ~ ‘
goos goos 5 _;,_;:E
g 0.06 g 0.06 g 0.35 ﬂ—‘::i—y—l é
004 © 004 030 mHifH S
a [a] [a] ‘ 2
4 6 8 10 12 4 8 10 12 16 10 14 18 22 8
Load (N) Load (N) Load (N)
v RTB 20 v RTB 30 ¥ RTB 50 v RTB 70
0.32
g0 e £ 060 Eoos
£ £
p=— ~ ~0.40 ~0.07
< 025 c 025 c
S o G020 S 006
;‘_)’0.20 ;‘_)’020 E 01 é 008
3 o3 © 0.10 © 0.04
Qoo Som o B ©
10 20 30 40 50 10 20 30 40 50 20 40 60 80 100 20 40 60 80 100
Load (N) Load (N) Load (N) Load (N)
v RTB 100 v RTB 200 v RTB 300 v RTB 500
g0.10 ’E\OJO EO.WO ’E\OJO
~0.08 =008 —] =008 =008
_S 0.06 _5 0.06 1 = _E 0.06 _E 0.06
g 0.04 :‘-} 0.04 |1 g 0.04 ‘g 0.04
B 0021 002 002 B 002
) a a [a]
20 40 60 80 100 120 140 160 180 200 50 100 150 200 250 100 200 300 400 500 100 200 300 400 500
Load (N) Load (N) Load (N) Load (N)
Q Allowable load
Loding way
@ { l ®)
|
| | | ]
i i i
Table load(N
Model Side load (N) able load(N) Allowable torque (N.m)
(a) (b)
RTB 3 33 48 48 1.1
RTB 7 54 71 71 1.5
RTB 10 70 78 74 2
RTB 20 140 130 130 355
RTB 30 185 188 358 4.8
RTB 50 300 285 442 9
RTB 70 333 296 476 12
RTB 100 390 493 706 18
RTB 200 543 740 1009 25
RTB 300 850 950 1500 30
RTB 500 1200 1400 2100 38
© Weight
Model RTB3 | RTB7 |RTB 10 | RTB 20 | RTB 30 | RTB 50 | RTB 70 [RTB 100| RTB 200 | RTB 300 | RTB 500
Weight 150g 2509 5309 990g 12909 2100g 2890g 41009 76509 8960g 11170g

6-12.38



RTB series Rotary Table

Dimensions

CHELIC.

ORTB 3

40

]

4.5

2-M4x0.7P dp 4

8-M3x0.5P
& )
)
L]
[sg]
N
H
25 @4.2 Thru hole
38 Counterbore @7.5 dp 4.5
43
4-M3x0.5P dp 3.5
234
@33
vl L
B PN N
N
— 1 <
2-M3x0.5P 1 =)
Port connection
0
o
@
T R
w0
I S
I
| &5 Thru hole ~
@6
47
60
2-M5x0.8P dp 6
L]
@D | —
\J \J
— M) o)
( T )
+0.04 -
20 dp2

Mounting hole

6-12.39

16.2

2-M3x0.5P
Port connection

RTM

RMF

RTB

RTBM

RTZB

RTP

RTH

RTU

12

16.5
30.5

34.5




RTB series Rotary Table

Dimensions CHELIC.
CRTB7
‘ 50 ‘
— fﬁ @&
I 0
s

2-M5x0.8P dp 5

8-M4x0.7P
C
T
-
o
[sp)
(Y1
C
T
@4.2 Thru hole
Counterbore @7.5 dp 4.5
50
4-M4x0.7P dp 4.5
@40
@39
220 2-M5x0.8P
5 ol © Port connection
N AN| ©
A —— : ::
2-M5x0.8P e ) 2
Port connection -
— ﬁ
¢ o 7
N N~ [te)
L \, Vo - d
A S ) >
@6 Thru hole| | ©
- ©
a7 37
50 41
73.5
2-M5x0.8P dp 6
— ,<-VIoxU.oF dp b
C
(i
-
fan ) ‘ _
B2 N
— ©
C [te)
# <
— =T

+0.04
3% dp3
Mounting hole

6-12.40



RTB series Rotary Table

Dimensions

CHELIC.

ORTB 10

8-M5x0.8P

fany
g

27

()
N

EC
H
H

Eoz

)
W

@6.8 Thru hole

232 Counterbore @11 dp 6.5
60 4-M5x0.8P dp 8

@46

245

|

\ 2-M8x1.25P dp 12

Vv Option/ Shock absorber

SAT-0806N

U <] °°l | 2-M5x0.8P
! —~’ ) /m
I.{)' N~
_p < o \ @
3 © o
ol | Y- - &
— N & 3
— HECEN > -
|
@5 Thru hole 95 || o 18
MAX. 27.1
95 _ .&.‘ The length for shock 44
92 MAX. absorber in the back 50
MAX. 19

The length for adjustable
screw in the back

6-12.41

RTM

RMF

RTB

RTBM

RTZB

RTP

RTH

RTU



RTB series Rotary Table

Dimensions CHELIC.
C RTB 20
EANES
8-M6x1P 2 o% %?
% £
20 o
%) o
©
72\ g
@ N is
o ;
@8.6 Thru hole
Counterbore @14 dp 8.5
4-M6x1.0P dp 10
261
@60
228
8 ol 0 50.8
@@ 2-M5x0.8P
Z # '\.t ‘ Port connection
e B N
|
A\ J 13 b
— I © s
L o 5 o 9 o
ncal | W - - @
I 5 J & ©o| N
i | [UBEIEAN 2 ] <1
|
‘ @9 Thru hole 12| & 27 275
12_ 17 ‘ The I-eng-th for shock absorber 59
117 MAX. _| inthe back 65

\_2-M10x1.5P dp 15 MAX. 19

The length for adjustable screw
in the back

Vv Option/ Shock absorber

SAT-1007N

6-12.42



RTB series Rotary Table

Dimensions CHELIC.

O RTB 30

8-M6x1P

&
51
B¢
o]
RTM
@8.6 Thru hole
Counterbore @14 dp 8.5
4-M6x1.0P dp 10 RMEF
RTB
- RTBM
265
232
2 N 52
Y 2-PT1/8 RTZB
[ 1 ol Port connection
T - ~
‘ -
0 RTP
; N~
I \ | © [} b
- \ ? g 3| .
1 2| s RTH
R ©
\FQ‘VT”T!CEM * “:I ©
@9 Thru hole |12 "’T VA, 271
._.12 .—Mzz The length for shock absorber RTU
127 MAX_ |in the back
2-M10x1.5P dp 15 MAX. 19

The length for adjustable screw
in the back

V¥ Option/ Shock absorber

SAT-1007N

6-12.43



RTB series Rotary Table

Dimensions CHELIC.
O RTB 50
8-M8x1.25P
— 1 R
-
o
'e)
- i

-
55 @10.5 Thru hole
100 Counterbore @17 dp 10.5

4-M8X1.25P dp 10
77
a75
@35
10 N 62
= | 2-PT1/8
Port connection
R %Lgl 5 '
N

Fsum

0 @ ) S
| o g @ @
— —-ZF
N T el | w E;" NN .
i * SRS EnE
© ~
| ;| \bfgﬁm\ s
@10 Thru hole 155 | | 38
15.5 226 | 74
152 MAX. 80
MAX. 27.1
\_2-M12x1.75P dp 18 \The length for shock absorber
in the back
MAX. 19
The length for adjustable screw
in the back

Vv Option/ Shock absorber

SAT-1412N

6-12.44



RTB series Rotary Table

Dimensions

CHELIC.

ORTB 70

8-M8x1.25P

57

4.2

©10.5 Thru hole

Counterbore @17 dp 10.5
4-M8x1.25P dp 10

[T
|
|

/

1 17

2-M12x1.75P dp 18

‘@16 Thru hole

222 |

170

Vv Option/ Shock absorber

SAT-2015N

6-12.45

RTM
RMF
RTB
2-PT 1/8 RTBM
Port connection
92
70
RTZB
§ | n
\§} / d/] RTP
g R .
3 < ~
- ol
gr N Rog RTH
2-M20x1.5P
(Stroke cushion 78 RTU
Shock absorber) 84




RTB series Rotary Table

Dimensions CHELIC.
©C RTB 100
8-M10X1.5P S
-\
&
©
©
&
77 @10.5 Thru hole
130 Counterbore @17 dp 10.5
4-M8x1.25p dp 10
@100
@98
256 102
12 82 2-PT1/8
ﬁ Port connection
\Q LT 177/ 6l o] ©
C 1 [ 1 | SIS
—— | El /
IRy o @
{ 0 T ™ i v,
+ 5 LA T TN | oy
¥ oL * ) 2
. ‘ v o) ©
f 1 o
] [ T 59] ff @ﬁ o
14 |19 Thru hole 14| < 2-M20x1.5P 50
2-M12x1.75P dp 18 | @04 ‘ (Stroke cushion 89
' Shock absorber)
189 95

Vv Option/ Shock absorber

SAT-2015N

6-12.46




RTB series Rotary Table

Dimensions CHELIC.
© RTB 200
8-M12x1.75P
o
«©
90 @14.2 Thru hole
150 Counterbore @22 dp 14.5
4-M12x1.75P dp 13
2118
2116
@64 120
15 99 2-PT 1/8
m ) osi 3 Port connection
e -
1 e g - o
[ L]l .
S o
< )
| ~ N
— ] > = 0
L A1 ~
19 ‘ @24 Thru hole 19 3 2-M27x1.5P 65
2-M16x2P dp 25 .@J (Stroke cushion 107
p 240 Shock absorber) 113

54 2

f
\¥
pa

V¥ Option/ Shock absorber

+0.04

8* dp6.5
Mounting hole

SAT-2725N

6-12.47

RTM

RMF

RTB

RTBM

RTZB

RTP

RTH

RTU



RTB series Rotary Table

Dimensions CHELIC.
© RTB 300
8-M16x2P
-\
& o=
o 7@ )
® Y X
& i
@17.5 Thru hole
180 Counterbore @26 dp 16.5
@133 4-M12x1.75P dp 13
@132
70
18 115
| 2| o
— = —T o 2PT14
—— © 8 Port connection
ﬁ | P e s
| | -
\,\ T o | o [ | .
{ (%] i i 5
{ — <
v i S ©
‘Q26 Thru hole 25 ;’ 2-M27x1.5P 77
236 (Stroke cushion 130
2-M20x2.5P dp 25 280 Shock absorber) 136

69

CI T

&

@

&

CI— 17

Mounting hole

6-12.48

Vv Option/ Shock absorber

SAT-2725N




RTB series Rotary Table

Dimensions CHELIC.

O RTB 500

8-M16x2P

—\Cb

: €&
RTM
120 @17.5 Thru hole RMF
Counterbore @26 dp 16.5
220
4-M12x1.75P dp 13 RTB
2152
@150
285 RTBM
18 L 129
o g
Z 1 2-PT 1/4
| N —" ) — 2 || Portcomnection | R1ZB
x R
— . N 8 ‘
\ A o I I @ 7 RTP
L { o N S| 13
— / © @ 5
| i &
' iz RTH
125 | ‘ @26 Thru hole 25 3 2-M27x1.5P 85
> M20x2.5P do 25 @36 (Stroke cushion 150
- 5P d
X p 320 Shock absorber) 156 RTU
80 2
h—1
——!
N ) )
Y & J <7 o
f—11 ¢ é ¥ Option/ Shock absorber
j—11 27)¢
o2

SAT-2725N

6-12.49





